No.	



United Independent School District AGENDA ACTION ITEM

TOPIC Approval of Request from William Johnson for use	e of Board of Trustees Discretionary Funds
for Col. Santos Benavides Elementary for \$7,850	
SUBMITTED BY: William Johnson	OF: Board Member
APPROVED FOR TRANSMITTAL TO SCHOOL BOARD:	
DATE ASSIGNED FOR BOARD CONSIDERATION:	May 19, 2010
RECOMMENDATION:	
It is recommended that the Board of Trustees approve a re- of Trustees Discretionary Funds for Col. Santos Benavides Elemen	-
RATIONALE:	
BUDGETARY INFORMATION	
BOARD POLICY REFERENCE AND COMPLIANCE:	



United Independent School District Board of Trustees Discretionary Funds Request Form Fiscal Year 2010-2011

Requesting Campus: Colonel Santos Benavides Schoo	<u> </u>
Campus Principal: <u>Dr. Myrtha Villarreal</u>	
Board Member:	
Board Member: Mr. William Johnson	
Description of Request: During the 2009-2010 school teachers ordered class sets of reading novels to enhance of in Reading. The class sets rotated among the grade level access to these novels. Since the school has limited funds, However, since more than 150 students use the books they next school year. The students have been enjoying reading all the related activities. Students have completed class activities, and have strengthen their reading comprehension accelerated reader tests. The teachers want to continue activities for our students next year, thus, we are requesting of novels in hard cover so they can last. The novels a students are motivated and excited about reading these books from having the opportunity to read beyond their grade request.	ur district scope and sequence so that all students could have soft cover books were ordered. Y are not in good condition for g these novels and completing projects, vocabulary building as a result of taking class and to provide these challenging in funds to purchase class sets are above grade level but our oks. They have truly benefited
Estimated Cost of Request \$7,850.00 (see attached) Principal Signature:	Date 4-5-10
Board Member Approval: Yes No	
Board Member Signature:	Date
Board Member Signature:	Date
Superintendent Signature:	Date
Board Approval: Yes No Date A	Approved:



UNITED INDEPENDENT SCHOOL DISTRICT Purchase Requisition Page____to__

Vendor Name and Address

FOR CHILDREN	PROGRAM LOCA	AL PROJECT	SUB	Follett	Libra	n Res	ource S
FUND/YR FUNC.	ORG. CODE OPTIO	AL PROJECT N NUMBER OBJECT	OBJECT AMOUNT	1340	Riggen	ieru D	
				MeHen	240 6		
				Phone No. 13	200 C	mulileS	o: Libra
				Date: HON	1 7	$\Delta 1 \Delta$	U. <u>C. D.</u> O.
BŲDG	SET CODE	ACCOL	INT CODE	Date. 1111		UNITED PRICE WITH	EXTENSION
QTY. ITEM#		· · · · · · · · · · · · · · · · · · ·	DESCRIPTION			DISCOUNT	EXTENSION
				1100	rod_		
			00	XIACIC		~~£/.	
	1000	ise =	30				·
	1772	1001	<				
		100 h					
	V		274	2200	Sinat		
	TIDO	1101	<u>aaci</u>	hocea	200 Mg		
						, .	
			· · · · · · · · · · · · · · · · · · ·		.**		
			· · · · · · · · · · · · · · · · · · ·		· · · · · · · · · · · · · · · · · · ·	.`	
			· · · · · · · · · · · · · · · · · · ·	<u> </u>			,
			1				
					<u> </u>		
·							
DISPOSITION:	J Pick-up □ M	all 🗂 Check	☐ FAX#			PAGE TOTAL	
REMARK: LOV	<i>~</i>	18+ 9 9	Ing Old	ados	GRA	ND TOTAL	846.4
Prieds		Jaursi 4	11.8		•	**	
ORIGINATOR (PRINT	M. C. VIII		DATE	BUDGET COORDIN	ATOR		DATE

Page 1 of 2



> Home > Order History ? Help

Welcome, Cristina Vidaurri (Col. Santos Benavides School) |> Logout

Current List: Magic Tree House English | > Return to List

Quote for COL SANTOS BENAVIDES ELEM SCH

Printout page 1 of 1

To Follett Library Resources

1340 Ridgeview Drive

McHenry, IL 60050

Attn Order Department

Phone 888.511.5114 or 815.759.1700

Fax 800.852.5458 or 815.759.9831

List Notes

Quote ID 5730820

Customer Number 4204189

List Number 6983296

List Name Magic Tree House English

Date 03/26/2010

Time 15:37:31

Total Books (Qty.)

7 (168)

\$ 1,488.48

Grand total

\$ 1,488.48

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Shipping Preference

What's the fastest way to get my titles?

Free By selecting our Two Shipments option we'll ship what's immediately Shipping available - and deliver the balance in a second shipment.

Complete Order in Two Shipments (Faster 1st Shipment)

Complete Order in One Shipment

When submitting your quote as an order, please check your shipping preference. If you do not check a preference we will use what we have on file.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

FLR#	Title	Author		Yr	Bnd	ATOS	IL Qty	1st	Price	Ext
36403X2	Afternoon on the Amazon	Osborne,							8.86	212,64
33786X8	Dolphins at daybreak	Osborne,	М	97	FBG	3.1	3-6 24		8.86	212.64
33601X5	Ghost town at sundown	Osborne,	Μ	97	FBG	3.0	3-6 24		8.86	212.64
31167W2	The knight at dawn	Osborne,	Μ	93	FBG	2.9	3-6 24	•	8.86	212.64
38820X4	Midnight on the moon	Osborne,	Μ	96	FBG	2.8	3-6 24		8.86	212.64
37648W1	Night of the Ninjas	Osborne,	М	95	FBG	2.7	3-6 24		8.86	212.64
35268X1	Sunset of the sabertooth	Osborne,	М	96	FBG	3.0	3-6 24		8.86	212.64

7 titles (qty 168) Total Guaranteed Title Price 1,488.48

Total Books (Qty.) 7(168) \$1,488.48

Grand total

\$ 1,488.48

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Follett Library Resources

Because publishers frequently change the availability of titles, we may not be able to ship 100% of your list. Therefore, we encourage you to use our Do Not Exceed service. When placing an order:

- 1. Enter a Do Not Exceed amount on your order,
- 2. Over order 10% by listing additional titles on your list, and
- 3. Indicate any top priority titles by checking the "First Choice" box next to the titles.

TITLEWAVE Questions: Contact our Library Service Consultants at lecom or 888.511.5114 ext. 1164 or use our Online Help Order Questions: Contact your Customer Care Consultant at lutilet.com or 888.511.5114 ext. 3155



> Home > Order History > Help

Welcome, Cristina Vidaurri (Col. Santos Benavides School) |> Logout

Current List: Magic Tree House Spanish > Return to List

Quote for COL SANTOS BENAVIDES ELEM SCH

Printout page 1 of 1

To Follett Library Resources

1340 Ridgeview Drive

McHenry, IL 60050

Attn Order Department

Phone 888.511.5114 or 815.759.1700

Fax 800.852.5458 or 815.759.9831

List Notes

Quote ID 5744804

Customer Number 4204189

List Number 6983316

List Name Magic Tree House Spanish

Date 04/01/2010

Time 11:04:40

Total Books (Qty.)

8 (176)

\$1,752.96

Grand total

\$ 1,752.96

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Shipping Preference

What's the fastest way to get my titles?

Shipping our Two Shipments option we'll ship what's immediately available - and deliver the balance in a second shipment.

O Complete Order in Two Shipments (Faster 1st Shipment)

One Shipment

When submitting your quote as an order, please check your shipping preference. If you do not check a preference we will use what we have on file.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Book	3

FLR#	Title	Author		Yr	Bnd	ATOS	IL 9	ty 1st	Price	Ext
30628W7	Atardecer en el pueblo fa	Osborne,	М	06	FBG	3.4	3-6	22	9.96	219.12
33950W8	El caballero del alba	Osborne,	Μ	02	FBG	2.9	3-6	22	9.96	219.12
31687W2	Delfines al amanecer	Osborne,	М	06	FBG	3.3	3-6	22	9.96	219.12
35305V0	Medianoche en la luna	Osborne,	Μ	04	FBS	2.8	3-6	22	9.96	219.12
33358W3	La noche de los ninjas	Osborne,	Μ	04	FBG	2.7	3-6	22	9.96	219.12
13247Y3	Perros salvajes a la hora								9.96	219.12
34776W8	Piratas despues del medio	Osborne,	Μ	02	FBG	2.8	3-6	22	9.96	219.12
30245X4	Un tigre dientes de sable	Osborne,	M	04	FBG	2.9	3-6	22	9.96	219.12

8 titles (qty 176) Total Guaranteed Title Price 1,752.96

Total Books (Qty.) 8 (176) \$ 1,752.96

Grand total

\$ 1,752.96

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Follett Library Resources

Because publishers frequently change the availability of titles, we may not be able to ship 100% of your list. Therefore, we encourage you to use our Do Not Exceed service. When placing an order:

- 1. Enter a Do Not Exceed amount on your order,
- 2. Over order 10% by listing additional titles on your list, and
- 3. Indicate any top priority titles by checking the "First Choice" box next to the titles.

TITLEWAVE Questions: Contact our Library Service Consultants at lect.com or 888.511.5114 ext. 1164 or use our Online Help Order Questions: Contact your Customer Care Consultant at Julie.Komorous@flr.follett.com or 888.511.5114 ext. 3155

Second Grade English



> Home > Order History > Helip

Welcome, Cristina Vidaurri (Col. Santos Benavides School) | > Logost

Current List: Magic Tree House 2nd English | > Return to List

Quote for COL SANTOS BENAVIDES ELEM SCH

Printout page 1 of 1

To Follett Library Resources

1340 Ridgeview Drive

McHenry, IL 60050

Attn Order Department

Phone 888.511.5114 or 815.759.1700

Fax 800.852.5458 or 815.759.9831

List Notes

Quote ID 5730887

Customer Number 4204189

List Number 6984223

List Name Magic Tree House 2nd English

Date 03/26/2010 **Time** 15:58:57

Total Books (Qty.)

10 (250)

\$ 2,215.00

Grand total

\$ 2,215.00

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Shipping Preference

What's the fastest way to get my titles?

Shipping By selecting our Two Shipments option we'll ship what's immediately available - and deliver the balance in a second shipment.

Complete Order in Two Shipments (Faster 1st Shipment)

One Shipment

When submitting your quote as an order, please check your shipping preference. If you do not check a preference we will use what we have on file.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Book	s
------	---

FLR#	Title	Author		Yr	Bnd	ATOS	IL (Qty 1st	Price	Ext
30903X2	Buffalo before breakfast	Osborne,							8.86	221.50
30556W6	Civil War on Sunday	Osborne,	Μ	00	FBG	3.4	3-6	25	8.86	221.50
34754X9	Day of the Dragon King	Osborne,	М	98	FBG	3.3	3-6	25	8.86	221.50
39401V5	Dingoes at dinnertime	Osborne,	Μ	00	FBG	3.2	3-6	25	8.86	221.50
33371X3	Hour of the Olympics	Osborne,	Μ	98	FBG	3.3	3-6	25	8.86	221.50
30339X2	Polar bears past bedtime	Osborne,	Μ	98	FBG	3.3	3-6	25	8.86	221.50
33747XX	Revolutionary War on Wedn	Osborne,	Μ	00	FBG	3.5	3-6	25	8.86	221.50
34506V4	Tigers at twilight	Osborne,	Μ	99	FBG	3.0	3-6	25	8.86	221.50
30184X7	Vacation under the volcan	Osborne,	Μ	98	FBG	3.3	3-6	25	8.86	221.50
33457xx	Viking ships at sunrise	Osborne,	Μ	98	FBG	3.3	3-6	25	8.86	221.50

10 titles (qty 250) Total Guaranteed Title Price 2,215.00

Total Books (Qty.) 10 (250) \$ 2,215.00

Grand total

\$ 2,215.00

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Follett Library Resources

Because publishers frequently change the availability of titles, we may not be able to ship 100% of your list. Therefore, we encourage you to use our Do Not Exceed service. When placing an order:

- 1. Enter a Do Not Exceed amount on your order,
- 2. Over order 10% by listing additional titles on your list, and
- 3. Indicate any top priority titles by checking the "First Choice" box next to the titles.

TITLEWAVE Questions: Contact our Library Service Consultants at lsc@flr.follett.com or 888.511.5114 ext. 1164 or use our Online Help
Order Questions: Contact your Customer Care Consultant at Julie.Komorous@flr.follett.com or 888.511.5114 ext. 3155

Page 1 of 2



> Home | > Order History | ? Help

Welcome, Cristina Vidaurri (Col. Santos Benavides School) > Logout Current List: Magic Tree House Spanish 2nd G > Return to List

Quote for COL SANTOS BENAVIDES ELEM SCH

Printout page 1 of 1

To Follett Library Resources

1340 Ridgeview Drive

McHenry, IL 60050

Attn Order Department

Phone 888.511.5114 or 815.759.1700

Fax 800.852.5458 or 815.759.9831

List Notes

Quote ID 5730814

Customer Number 4204189

List Number 6983971

List Name Magic Tree House Spanish 2nd G

Date 03/26/2010

Time 15:33:28

Total Books (Qty.)

10 (250)

\$ 2,490.00

Grand total

\$ 2,490.00

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Shipping Preference

What's the fastest way to get my titles?

Free By selecting our Two Shipments option we'll ship what's immediately Shipping available - and deliver the balance in a second shipment.

Complete Order in Two Shipments (Faster 1st Shipment)

One Shipment

When submitting your quote as an order, please check your shipping preference. If you do not check a preference we will use what we have on file.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Books	
-------	--

FLR#	Title	Author		Yr	Bnd	ATOS	IL (tv 1st	Price	Ext
30752W8	Barcos vikingos al amanec								9.96	249.00
04418Y3	Bufalos antes del desayun	Osborne,	M	08	FBG	3.4	3-6	25	9.96	249.00
33721W5	El dia del Rey Dragon								9.96	249.00
28567Y9	Esta noche en el Titanic	Osborne,	M	08	FBG	3.5	3-6	25	9.96	249.00
38982W4	La hora de los Juegos Oli								9.96	249.00
32466V8	Leones a la hora del almu								9.96	249.00
35397X9	Osos polares despues de l	Osborne,	M	06	FBG	3.5	3-6	25	9.96	249.00
32317V8	Una tarde en el Amazonas								9.96	249.00
09781Y6	Tigres al anochecer								9.96	249.00
35820W2	Vacaciones al pie de un v	Osborne,	M	07	FBG	3.4	3-6	25	9.96	249.00

10 titles (qty 250) Total Guaranteed Title Price 2,490.00

Total Books (Qty.) 10 (250) \$ 2,490.00

Grand total

\$ 2,490.00

Free shipping and handling on books and audiovisual materials within the United States and its territories. Shipping and brokerage are free to Canada.

Prices guaranteed through 05/24/2010

Prices do not include cataloging or processing

Follett Library Resources

Because publishers frequently change the availability of titles, we may not be able to ship 100% of your list. Therefore, we encourage you to use our Do Not Exceed service. When placing an order:

- 1. Enter a Do Not Exceed amount on your order,
- 2. Over order 10% by listing additional titles on your list, and
- 3. Indicate any top priority titles by checking the "First Choice" box next to the titles.

TITLEWAVE Questions: Contact our Library Service Consultants at <a href="mailto:legger/legger